Name Date Class

Practice A
.8 Radical Functions

Graph each function.
fix) = /xis the parent function.

1. gx) =vx -2

X g(x) (x, g(x))

0 Vo —-2=-2 (0, —2)

1 VIi-2=—1 a,-1) o_ X
4 Vi —2-0 (4,0) 2 4 6 8 101214 16 18 20
9 V9 —2 =1 (9, 1)

16 Vie —2=2 (16, 2)

a. Describe the transformation from the parent function.

b. Identify the domain and range of g. Domain: [x| X ]
Range:[yly |
2. g(x) = —VX 10X
a. Complete the table of values, then graph.
x gx) (x, g(x))
0 -V0 =0 (0,0)
]
4
9
16

b. Describe the transformation from the parent function.

c. Identify the domain and range of g.

Solve.

3. Horizontally stretch the function f(x) = Vx + 5 by a factor of 3.
What is the correct way to write the function g?

9(x) =
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fix) = /xis the parent function. 10,

1. gx) =vx -2

6k chii
X g(x) (x, g(x)) W >
0 Vo —2=-2 (0, —2) 2 ..... T LT TR RN RS S
1 Vi-2=—1 a,-1) _ X
[ vi—e-0 | @) o e R R EE
9 V9 —2=1 9,1)
16 Vie —2=2 (16, 2)

a. Describe the transformation from the parent function.
Translation 2 units down

b. Identify the domain and range of g. Domain: [x| x_ = 0 ]
Range:{y|y_=0 |
2. glx) = —VXx
a. Complete the table of values, then graph.
X agx) (x, g(x))
0 -\V0 =0 (0,0)
1 ~Vi=-1 | (1, 1) BN S S S S W Sy
4+ | —va=-2 | (4, -2 EE T 0
o | =Vo=-3 | (9,-3)
16 | —v16 = —4 | (16, —4)
\/

b. Describe the transformation from the parent function.
Reflection across the x-axis
Domain: {x | x=0};
range: {y | y = 0}

c. Identify the domain and range of g.

Solve.

3. Horizontally stretch the function f(x) = Vx + 5 by a factor of 3.
What is the correct way to write the function g?

g(x) = \/%(X'l‘ 5)
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